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Warning: col ['FR'] missing
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3

BfiE) | EBATK (FD) | EHRE (EH/H) | BERERE (B/R) | XK R

07:00 333 150. 0 0.593 =] FHER@07:00 KENFER/F (RFMERLER)
07:45 333 150.0 0.593 F|  FHAe07:45 KEIEFE CGRAEESE)
08:55 333 150.0 0.593 FA| hHR@08:55 KEIEHF (RALERR)
09:50 333 150.0 0.593 FH| FnHA@09:50 KRFFEF (RAFEREE)
10:35 333 150.0 0.593 FR| FHA@10:35 KRENIZF (RAEEES)
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13:55 333 150.0 0.593 FH| FnHA@13:55 KRFFEF (RAERSE)
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15:25 333 150.0 0.593 FA| FnHR@15:25 KRFFEF (KRAERKE)
16:20 333 150.0 0.593 FH| FnHA@16:20 KRFFEF (RAERSE)
23t 4329.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 6.5
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P3
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P3

BflE) | GEBRAK () | ERE(EA/K) | EREE B/ R [ XS ERE

06:35 333 150. 0 0.593 =l {Ri%e06:35 B (RAERSE)
07:10 333 150.0 0.593 =l RRi8007:10 B (REAEEE)
08:10 333 150.0 0.593 = RRiB008:10 Bah (RAEEE)
09:00 333 150.0 0.593 s RRi8@09:00 B (FRFAEREE)
09:45 333 150.0 0.593 Sl {Rige09:45 B (RAERSE)
10:20 333 150.0 0.593 =l Ri8010:20 B3 (REAEEE)
11:00 333 150.0 0.593 sl RiBe11:00 B (GREAERESE)
11:35 333 150.0 0.593 5 {Ri%e11:35 Bz (GRAERSE)
12:05 333 150.0 0.593 =l RRige12:05 B (REAEEE)
12:45 333 150.0 0.593 s RiBe12:45 B (REAERESE)
13:25 333 150.0 0.593 F BRige13:25 Bz CGRAEREESE)
14:05 333 150.0 0.593 =l RRiBe@14:05 Bz (REAEEE)
14:40 333 150.0 0.593 =l RiB014:40 Bz (REAEEREE)
15:20 333 150.0 0.593 =l {Rig015:20 B3 (RAERSE)
15:55 333 150.0 0.593 =l RRiBe15:55 Bah (REAEREE)
16:45 333 150.0 0.593 = RiB016:45 Bz (REAEEE)
21t] 5328.0 (16%) 2400. 0 EIGHKEC: 2080.0, PH: 6.5

#[ERECE (2260.0 vs

4050. 0) id 5
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P3_0, Day=59 (2025-06-03)
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P3

BflE) | GEBRAK () | ERE(EA/K) | EREE B/ R [ XS SRR

06:45 333 150.0 0.593 [Z=| 1BRige06:45 Bzh (REERSE)
07:25 333 150.0 0.593 = RiB&e07:25 B (REAEESE)
08:25 333 150.0 0.593 5| 1Ri&e08:25 Hz (KRFEES)
09:10 333 150.0 0.593 E| {Ri1g@09:10 Bz (RE{ERSE)
09:50 333 150.0 0.593 = RRi%09:50 BHzh (RAEESE)
10:25 333 150.0 0.593 & Ri8@10:25 Bnh (GREAERESE)
11:15 333 150.0 0.593 5 {Rige11:15 Bz (GRAERSE)
12:05 333 150.0 0.593 =l 1Rige12:05 B3 (RAERSE)
12:50 333 150.0 0.593 | Rige12:50 Bz (REAERESE)
13:20 333 150.0 0.593 |Z=| 1Ri%e13:20 Bz (GREEZERSE)
13:55 333 150.0 0.593 |Z=| 1Ri&e13:55 Bzl (REERSE)
14:25 333 150.0 0.593 | =| 1Ri%e14:25 B3 (REEZEBE)
14:55 333 150.0 0.593 |Z=| 1Ri%e14:55 Bz (GREERE)
15:30 333 150.0 0.593 [ =| 1BiBe15:30 Bzh (REEREE)
16:10 333 150.0 0.593 | =| 1Ri%e16:10 Bz (REAZERSE)
17:05 333 150.0 0.593 |Z=| 1Ri%e17:05 Bz (GGREERE)
21t] 5328.0 (16%) 2400. 0 EIGHKEC: 2080.0, PH: 6.5

#HERECE (2215.0 vs 4003.0) i d 5




P3_0, Day=58 (2025-06-02)
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P3

BfiE) | GEBIATIE (7)) | EME (BEFH/f) | ERERE (B/R) | XS ERF

09:10 333 150.0 0.593 |&Z=| 1Ri%e09:10 Bz (REEZEBE)
10:10 333 150.0 0.593 [ =| Bige10:10 Bzh (REEREE)
11:10 333 150.0 0.593 FE| {Ri&@11:10 Bz CGRAEEE)
12:10 333 150.0 0.593 FA| BRi%@12:10 B3h (RAIEREEE)
13:10 333 150.0 0.593 FA| {Ri%@13:10 Bz CGRAEESE)
14:45 333 150.0 0.593 FE| {Ri&@14:45 Bz CGRAEREE)
2411 1998.0 (6:%) 900.0 32 KEC: 2080.0, PH: 6.5

#H[ERECE (2168.0 vs 3885.0) 15




P3_0, Day=57 (2025-06-01)
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